Differences Homework
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I @® Use the result 5,1 5r3d- Gr-1)Gr+4) and the method of differences to find
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simplifying your answer. [6]
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Z ® Given that Gr-NGr+2) - 3r=1 3r+2’ find z, Gr-1)Gr+2)’ giving your answer as an
exact fraction. [5]
] i) Show that ! L - & 2
3 R e N T Ty =
30 1

(ii) Use the method of differences to find Z m, expressing your answer as a fraction.  [5]
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(i) Use this result to find , glving your answer as an exact fraction. [5]
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(ii) Write down the limit to which converges as n tends to infinity. [1]



